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Name ______________________________

Use the following information to answer questions 1 and 2 below:

The returns on Baduk Inc. over the next year are expected to depend on the performance of the economy as a whole as follows:

Economic Conditions
Probability
Return
Great
.50
22

Mediocre
.35
8

Awful
.15
-3

1.  What is the expected return on Baduk over the next year?

2.  What is the standard deviation of returns on Baduk?

3.  As a result of acquiring Weiqi Inc., Baduk Inc.’s systematic risk has risen but its company specific risk has fallen.  Will the return demanded by Baduk stockholders rise, fall, or remain unaffected (assuming nothing else changes)?

4.  You currently own shares in Dell but are considering broadening your portfolio by investing in either Hewlett-Packard or Proctor & Gamble.  You believe that HP and P&G would offer the same expected return and standard deviation of returns, but estimate that the correlation between HP and Dell is 0.9 while the correlation between Dell and P&G is only 0.4.  On the back of this page, sketch the feasible sets for Dell/HP and for Dell/P&G (on the same graph).

Use the following information to answer questions 5 and 6.

Suppose you invest $10,000 in Dell, $8000 in Hewlett-Packard, and $15,000 in Proctor & Gamble.  Dell’s beta is 1.35, Hewlett-Packard’s beta is 1.05, and Procter & Gamble’s beta is 0.90.  The standard deviations of returns on Dell is 55%, on Hewlett-Packard is 40%, and on Procter & Gamble is 35%.   The return on a one-month T-bill is 5.25%, the return on a 5-year Treasury strip is 6.32%, and the return on a 10-year Treasury strip is 6.29%.  The market risk premium is 8.4%.

5.  What is the beta of your portfolio?

6.  What is the lowest expected return you would accept on your portfolio?
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7.  How does a real interest rate differ from a nominal interest rate?

Use the following information to answer questions 8 through 10

The return on Treasury Strips are as follows:

Maturity
Rate

1-year
6.24

2-year
6.15

3-year
6.38

4-year
6.36

5-year
6.32

8.  What rate does the term structure imply that you will earn during the 4th year of a 4-year T-strip?

9.  If the expectations hypothesis is correct, what rate should you expect to earn on a one-year Treasury purchased 3 years from today?

10.  If the inflation risk hypothesis is correct, what rate should you expect to earn on a one-year Treasury purchased 3 years from today?

